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bY��� s� 8BR� Bt� B� �bB Ys%� A��t }��I${��I B� BAR��%�I $t s 8s�t��${ h�jI �st��
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{BZ}j$t�� bY${Y YsR A��t st $8}B��st� RBZ�{� BP Zt{���s$t�k $t �Y� ]RT]R $t���s{T
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8st$PBjI� qY�R� �-���8�jk b�s,jk ABZtI R�s��R s�� �Y���PB�� 8B�� R�tR$�$%� �B �Y�
jBt�T�st�� }s�� BP �Y� }B��t�$sj >d�H�
G� ZR� s {BZ}j�IT{Ystt�j {Bjj$R$Bt 8BI�j R$8$js� �B �Ys� I�R{�$A�I $t i�PR >dd�d�H

�B h� �Y� BAR��%�I ��RBtst{� }BR$�$BtR RYBbt $t 3$�R� dwsD� 1� n >d1H� qY� $t}Z� �B
�Y$R 8BI�j s�� �Y� PBjjBb$t� PBZ� h��$t� }s�s8����RU �Y� R$t�j�� stI ��$}j�� R{s�T
���$t� j�t��YR \X stI \0� �Y� %st I�� GssjR {B�^{$�t� gE� stI s I$8�tR$Btj�RR
R{sj$t� Ps{�B� Cg bY${Y {Bt��BjR �Y� R���t��Y BP �Y� $tI$��{� R}$tTR}$t $t���s{�$Bt
>dd�d1H� qY� h�R s�� RYBbt sR s RBj$I j$t� $t 3$�Z�� dwAD stI $t 3$�R� 1Tn RZ}��$8T
}BR�I Bt �Y� Is�s� stI �Y�k ��}�BIZ{� �Y� }BR$�$BtR BP sjj �Y� BAR��%�I ��RBtst{�R�
qY� ��RZj�$t� }s�s8���� %sjZ�R s�� \X ) w1M( LTd(Dy(� \0 ) w1;((LTd((Dy(� gE

) wEM�(LTnxDs�Z�� stI Cg ) n�1LT(�x� WB�${� �Ys� AB�Y �Y� R$t�j�� stI ��$}j��
R{s����$t� j�t��YR s�� }BR$�$%� stI %��k js���� �Y�R� s�$R� P�B8 �-���8�jk b�s,jk
ABZtI R�s��R $t �Y� R$t�j�� stI ��$}j�� }B��t�$sjR� �Y� js���� BP bY${Y $R �Y� RBZ�{�
BP �Y� 9��B �t���k ��RBtst{� BAR��%�I $t �Y� }Z�� ��$}j�� R�s�� >1H�
yt sII$�$Bt �B �Y� �Y��� R}�{��s RYBbt $t 3$�R� dwsD� 1� stI n� bY${Y b��� �s,�t

b$�Y R}$tT}Bjs�$9�I Rs8}j�R stI b��� ZR�I �B �-��s{� %sjZ�R PB� �Y� $t���s{�$Bt }sT
�s8����R� b� Ys%� sjRB BAR��%�I 8stk sII$�$Btsj 3�RYAs{Y ��RBtst{�R $t {Bjj$R$BtR
A��b��t s�B8R $t I$&���t� 8s�t��${ RZAj�%�jR� bY��� _Tbs%� {Bjj$R$BtR s�� }BRR$T
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3yp=ie ;� yt�jsR�${ jBRR �s�� {B�^{$�t� %R� 8s�t��${ h�jI PB� s 8$-�I Rs8}j� b$�Y �(0 /n�TnX�

1x0 /n�T1X� stI x0 /n�TdX� WB�� �Ys� 8stk BP �Y� sII$�$Btsj P�s�Z��R s�� IZ� �B _Tbs%� {Bjj$R$BtR

A��b��t s�B8R $t I$&���t� RZAj�%�jR� qY� RBj$I j$t� $R �Y� �Y�B���${sj {Z�%� BA�s$t�I Ak h��$t� �B

�Y� ��RBtst{� }BR$�$BtR RYBbt $t 3$�R� dwsD� 1� stI n�

Aj�� V I��s$j�I }��R�t�s�$Bt BP �Y�R� R}�{��s stI ��RBtst{� }BR$�$BtR $R A�kBtI �Y�
R{B}� BP �Y$R }s}��� stI b$jj A� }��R�t��I �jR�bY���� <Bb�%��� b� �$%� st �-s8T
}j� $t 3$� ;� qY$R h�Z�� RYBbR �Y� BAR��%�I $t�jsR�${ jBRR PB� s Rs8}j� BP s�B8R
$t s 8$-�Z�� BP �Y� /n�TnX� /n�T1X� stI /n�TdX R�s��R� bY${Y bsR BA�s$t�I R$8}jk Ak
$8}��P�{�jk }Bjs�$9$t� �Y� �sR� Vjj sII$�$Btsj ��RBtst{�R s�� {B���{�jk ��}�BIZ{�I
Ak �Y� {sj{Zjs�$BtR� bYBR� Btjk $t}Z� $R �Y� PBZ� }s�s8����R �-��s{��I P�B8 3$�R�
dwsD� 1� stI n�

G� tBb {sjj �Y� ��sI��:R s���t�$Bt �B �Y� R8sjj ��RBtst{�R }��I${��I $t �Y� �jsR�${
{�BRR R�{�$Bt PB� /n�nX s�B8 {Bjj$R$BtR� bY${Y s�� 8s�t$h�I $t �Y� $tR�� BP 3$�� d�
stI s�� {j�s�jk �BB b�s, �B A� R��t $t �Y� �%s}B�s�$%� jBRR� yt B�I�� �B BAR��%�
�Y�R� P�s�Z��R� b� ZR� B}�${sj �-{$�s�$Bt �B }�BA� �Y� RYB��T�st�� 8Bj�{Zjs� PB�8sT
�$Bt {Ys�s{���$R�${ BP 3�RYAs{Y ��RBtst{� >d�H� V P��� s�B8 }s$� b$�Y$t st B}�${sj
bs%�j�t��Y BP �s{Y B�Y�� �-}��$�t{�R s %��k R��Bt�� R}s�$sjjk I�}�tI�t� RY$P� BP
�Y� �j�{��Bt${ ��stR$�$Bt P��JZ�t{k IZ� �B �Y� ��RBtst�TI$}Bj� $t���s{�$Bt $t �Y�
�-{$��I R�s��� V j$�Y� h�jI s� s {���s$t I��Zt$t� b$jj �YZR A� ��RBtst� Btjk s� s
}s��${Zjs� $t���s�B8${ I$R�st{�� {sjj�I �Y� ]BtIBt }B$t� i{� stI �Y� �-{$�s�$Bt
}�BAsA$j$�k $R }�B}B��$Btsj �B �Y� }�BAsA$j$�k I�tR$�k b$�Y bY${Y s�B8R s�� PBZtI
s� �Ys� }s��${Zjs� R�}s�s�$Bt >1(H� e-{$��I }s$�R {st ZtI���B s RBT{sjj�I �sI$s�$%�
{Bjj$R$Bt� bY��� �Y� ���8�tIBZRjk R��Bt� I$}Bj� PB�{�R $t �Y� �-{$��I R�s�� s{{�j��T
s�� �Y� s�B8R �B s RZ^{$�t�jk Y$�Y ,$t��${ �t���k A�PB�� �Y�k I�{sk �Ys� �Y�k s��
�-}�jj�I P�B8 �Y� ��s} >1(��H�  k 8Bt$�B�$t� �Y� j$�Y�T$tIZ{�I jBRR P�B8 BZ� ��s}
s� s RZ$�sAj� I��Zt$t� w$t �Y$R {sR� E t8 sAB%� ��RBtst{�D� b� {st I$��{�jk }�BA�
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3yp=ie x� wsD isI$s�$%� {Bjj$R$Bt jBRR �s�� %R� 8s�t��${ h�jI PB� s�B8R $t �Y� /n�nX R�s��� wAD

]sj{Zjs��I R{s����$t� j�t��Y Vn,n� RYBb$t� �Y� }��I${��I 3�RYAs{Y ��RBtst{�R� WB�� �Ys� �%�t

�Y� %��k b�s, P�s�Z��R s�� {j�s�jk R��t $t �Y� jBRR �s��� 7�%��sj BP �Y� BAR��%�I ��RBtst{�R s��

tB� }��I${��I� stI 8sk A� IZ� �B Y$�Y��TBI�� R{s����$t� }�B{�RR�R�

s�B8${ }s$� {B���js�$Bt PZt{�$Bt s� s R8sjj $t���s�B8${ I$R�st{� {Ys�s{���$R�${ BP
8Bj�{Zjs� PB�8s�$Bt� stI �YZR R�tR$�$%�jk I���{� �Y� ��RBtst� �tYst{�8�t� BP �Y$R
JZst�$�k bY${Y B{{Z�R s� s 3�RYAs{Y ��RBtst{�� 3$�Z�� xwsD RYBbR �Y� BAR��%�I
�sI$s�$%� {Bjj$R$Bt jBRR PB� s�B8R $t �Y� /n�nX R�s�� sR s PZt{�$Bt BP 8s�t��${ h�jI�
stI 3$�Z�� xwAD RYBbR �Y� }��I${��I R{s����$t� j�t��Y BP �Y$R R�s�� PB� {B8}s�$RBt
BP �Y� ��RBtst{� }BR$�$BtR�  B�Y BP �Y� b�s, P�s�Z��R }��I${��I Ak �Y� {sj{Zjs�$BtR
s}}�s� {j�s�jk $t �Y� �sI$s�$%� jBRR �s��� sR b�jj sR �Y� js���� ��RBtst{� s� ;M p
sj��sIk BAR��%�I $t �Y� �%s}B�s�$%� jBRR� WB�� sjRB �Ys� R�%��sj sII$�$Btsj P�s�Z��R
s�� sjRB }��R�t� bY${Y b��� tB� }��I${��I Ak �Y� �Y�B�k� G� s�� {Z���t�jk $t%�R�$T
�s�$t� �Y� }BRR$A$j$�k �Ys� �Y�R� ��RBtst{�R ��RZj� P�B8 Y$�Y�� B�I�� }�B{�RR�R bY���
�Y� $t{B8$t� 7Tbs%� {BZ}j�R �B �B�s�$t� 8Bj�{Zjs� R�s��R BP �%�t Y$�Y�� st�Zjs�
8B8�t�Z8 w���� j);�E ��{���D� stI �Y� s����8�t� s}}�s�R �B A� }�B8$R$t�� qY$R
b$jj A� �Y� RZA`�{� BP s PZ�Z�� }ZAj${s�$Bt�

G$�Y s {BtR$R��t� R�� BP Zj��s{BjI 8Bj�{Zjs� $t���s{�$Bt }s�s8����R� b� {st tBb
{sj{Zjs�� �Y� �s��R PB� s�A$��s�k {BjI {Bjj$R$Bt }�B{�RR�R� !P }s��${Zjs� $t����R� $R
�Y� {BjIT{Bjj$R$Bt $tIZ{�I P��JZ�t{k RY$P� BP �Y� RBT{sjj�I "{jB{, ��stR$�$Bt" A��b��t
/n�(X stI /;�(X� bY${Y $R j$,�jk �B A� �Y� 8BR� $8}B��st� j$8$�s�$Bt Bt �Y� RYB��T���8
R�sA$j$�k BP �Y� t�-� ��t��s�$Bt BP jsR��T{BBj�I {�R$Z8 s�B8${ PBZt�s$t {jB{,R >x�1dH�
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3yp=ie E� wsD ]BjIT{Bjj$R$Bt $tIZ{�I P��JZ�t{k RY$P� BP �Y� /n�(X �B /;�(X ��stR$�$Bt {sj{Zjs��I

PB� st �JZsj 8$-�Z�� BP �Y�R� �bB R�s��R� sR s PZt{�$Bt BP {Bjj$R$Bt �t���k� qY� �-$R�$t� �-}��$8�t�sj

}B$t�R s�� RYBbt� stI s���� b$�Y �Y� {sj{Zjs�$Bt� WB�� �Ys� �Y� RY$P� �B�R �Y�BZ�Y 9��B s� sABZ�

�( z��

7YBbt $t 3$�� E $R �Y� {sj{Zjs��I P��JZ�t{k RY$P� }�� Zt$� I�tR$�k� sR s PZt{�$Bt BP �Y�
s�B8${ ,$t��${ �t���k $t ��8}��s�Z�� Zt$�R� VjRB RYBbt s�� R�%��sj �-}��$8�t�sj
}B$t�R P�B8 i�P� >xH� bY${Y s�� $t �BBI s����8�t� b$�Y �Y� {sj{Zjs�$Bt� WB�${�
�Ys� �Y� {Z�%� }sRR�R �Y�BZ�Y 9��B stI {Yst��R R$�t s� s ��8}��s�Z�� BP sABZ�
�( z�� yP s js��� �tBZ�Y Rs8}j� BP s�B8R {BZjI A� }�BIZ{�I $t s ts��Bb �t���k
�st�� s�BZtI �Y$R }B$t�� $� 8$�Y� A� }BRR$Aj� �B I�s8s�${sjjk ��IZ{� �Y� �&�{� BP
�Y$R I�tR$�kT$tIZ{�I RY$P� >1dH� n* is8stTR$I�AstI {BBj$t� >dMH YsR sj��sIk A��t
ZR�I �B }�BIZ{� st s�B8${ PBZt�s$t b$�Y d(M s�B8R s� ��8}��s�Z��R sR jBb sR dx(
z� >11H� stI bBZjI �Y���PB�� A� s %��k }�B8$R$t� ��{Yt$JZ� PB� �Y$R }Z�}BR��

VR s R�{BtI stI htsj �-s8}j� BP bYs� {st A� {sj{Zjs��I ZR$t� �Y� $t���s{�$Bt
}s�s8����R� b� tBb {BtR$I�� �Y� $8}s{� �Y$R t�b $tPB�8s�$Bt YsR Bt s���8}�R �B
}�BIZ{� s {�R$Z8  BR�Te$tR��$t {BtI�tRs��� 7YBbt $t 3$�� � s�� �Y� {sj{Zjs��I
�jsR�${ stI $t�jsR�${ {Bjj$R$Bt �s�� {B�^{$�t�R PB� s�B8R $t �Y� /n�TnX R�s��� bY���
�-}��$8�t�sj �&B��R s�  e] $t s 8s�t��${ ��s} Ys%� A��t PB{ZR�I >n�;H� qY� �s�$B
BP �Y�R� �bB JZst�$�$�R i $R s h�Z�� BP 8��$� PB� PB�{�I �%s}B�s�$%� {BBj$t� >1nH�
Vj�YBZ�Y i �s,�R Bt %sjZ�R BP d(( B� js���� sbsk P�B8 �Y� ��RBtst{�R� �Y��� s��
sII$�$Btsj {BtR$I��s�$BtR �Ys� s�� $8}B��st�� 3$�R�� �Y� R$�t BP �Y� R{s����$t� j�t��Y
8ZR� A� }BR$�$%�� s� j�sR� IZ�$t� �Y� htsj �%s}B�s�$Bt R�s��R bY��� q�q�� �B Ys%�
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3yp=ie �� 3B� s�B8R $t �Y� /n�TnX R�s��� �Y� {sj{Zjs��I �jsR�${ {Bjj$R$Bt �s�� {B�^{$�t� $R RYBbt

$t wsD� �Y� $t�jsR�${ {Bjj$R$Bt �s�� {B�^{$�t� $t wAD� stI �Y� R{s����$t� j�t��Y $t w{D� qY� {Bjj$R$Bt

�s�� {B�^{$�t�R s�� B�I��R BP 8s�t$�ZI� js���� �Yst �k}${sjjk R��t $t �Y� j$�Y��� sj,sj$R� sjRB� �Y�

R{s����$t� j�t��Y PB� /n�TnX $R js��� stI t��s�$%� $t �Y� jBbTh�jI ���$Bt bY��� �%s}B�s�$Bt bsR

}��PB�8�I $t i�P >;H�

s js���� R�sAj� {BtI�tRs��� qY$R �j$8$ts��R �Y� ���$Bt A�jBb sABZ� d(p� bY��� �Y�
}��%$BZR �-}��$8�t�R b��� }��PB�8�I >n�;H� 7�{BtI� �Y� sARBjZ�� 8s�t$�ZI�R BP
�Y�R� �s�� {B�^{$�t�R s�� �tB�8BZR� qY$R $R $8}B��st� A�{sZR� �Y� ��s} %$A�s�$Bt
}��$BI stI ��s} j$P��$8� s�� h-�I �$8�R{sj�R s�s$tR� bY${Y �jsR�${ stI $t�jsR�${
�s��R 8ZR� A� {B8}s��I sARBjZ��jk� �s�Y�� �Yst `ZR� �B �s{Y B�Y��� yt�jsR�${ jBRR
�s��R 8ZR� A� ,�}� R8sjj �tBZ�Y RB �Ys� Bt� YsR RZ^{$�t� �$8� �B BAR��%� �Y�
{BtI�tRs��� stI �jsR�${ {Bjj$R$Bt �s��R js���� �Yst �Y� ��s} %$A�s�$Bt P��JZ�t{k
{sZR� s {�BRRB%�� $t�B YkI�BIkts8${ A�Ys%$B�� qY� js���� 8sk A� s R��$BZR }�BAj�8
PB� �%s}B�s�$Bt� �$�Y�� Ak j$8$�$t� �Y� �Y��8sj$9s�$Bt �s�� >EH B� Ak ��IZ{$t� �Y�
�%s}B�s�$Bt �^{$�t{k B� I$8�tR$Btsj$�k� qY�R� �&�{�R 8ZR� A� {Ys�s{���$9�I A�PB��
st $t��jj$��t� {YB${� BP }s�s8����R {st A� 8sI� AsR�I Z}Bt BZ� 8�sRZ��8�t�R�

yt {Bt{jZR$Bt� b� Ys%� }��R�t��I Y$�YT��RBjZ�$Bt R}�{��s BP �jsR�${ stI $t�jsR�${



{Bjj$R$Bt �s��R $t st Zj��s{BjI� ��s}}�I {�R$Z8 �sR� 3�B8 �Y�R� R}�{��s b� Ys%�
PB� �Y� h�R� �$8� �-��s{��I s R�jPT{BtR$R��t� R�� BP 8Bj�{Zjs� $t���s{�$Bt }s�s8����R
bY${Y ��}�BIZ{� �Y� }BR$�$BtR BP B%�� n( BAR��%�I 3�RYAs{Y ��RBtst{�R� qY�R� }sT
�s8����R {st A� ZR�I �B s{{Z�s��jk {sj{Zjs�� $8}B��st� {Bjj$R$Btsj �&�{�R RZ{Y sR
�Y� I�tR$�kTI�}�tI�t� P��JZ�t{k RY$P� $t {�R$Z8 s�B8${ {jB{,R� sR b�jj sR {Bjj$R$Bt
�s��R stI R{s����$t� j�t��YR ��j�%st� PB� s���8}�R s�  BR�Te$tR��$t {BtI�tRs�$Bt�
yt sII$�$Bt� 3�RYAs{Y R}�{��BR{B}k 8sk A� 8B�� b$I�jk ZR�PZj sR s ��t��sj R}�{T
��BR{B}${ �BBj PB� R�ZIk$t� {BjI {Bjj$R$BtR� �R}�{$sjjk bY�t B}�${sj �-{$�s�$Bt $R ZR�I
sR s R�tR$�$%� }�BA� BP �Y� 8Bj�{Zjs� PB�8s�$Bt�

V]�W!GNe*p�eWq7

qY$R bB�, bsR RZ}}B���I $t }s�� Ak ��st�R P�B8 �Y� V3!7i stI �Y� W73� z�z�
bBZjI j$,� �B s{,tBbj�I�� RZ}}B�� P�B8 �Y� <Z8ABjI� 3BZtIs�$Bt stI ]�]� P�B8
�Y� qs$bst �B%��t8�t��

ie3eieW]e7

d� ]�i� �Bt�B�� e�V� ]B�t�jj� ]�V� 7s{,���� ]�F� �ks��� stI ]�e� G$�8st� _YkR i�%�

N���� �(� ;d; wd��nD� 7�V� <B},$tR� 7� G�AR���� F� V�j�� _�  st{�� 7� ]B�t$RY� !�

�s�s�B� stI ]�F� 3BB�� _YkR i�%� V Ed� (n1�(� w1(((D� i� N����� stI �� p$AAj��

_YkR i�%� N���� Md� x�M( wd��MD� �� p$AAj�� 7� ]Yst�� stI i� N������ _YkR i�%�

N���� �x� 1EEE wd��xD�

1� �� V�tI�� ��  �tT*sYst� *� pZ?��kT!I�j$t� ��G� i�ktBjIR� stI F� *sj$As�I� _YkR
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